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KEY FOR CLASS : 01

Please note that this key is within the purview of Oxford Advanced Learner’s Dictionary, published in 2014.

Explanations and answers to select questions

01 The words are : (i) Award [S], (ii) Barber [R], (iii) Brush [Q], (iv) Flower [P]. So, option (C) is the correct
answer.

02 The words are : (i) Child [S], (ii) Lioness [R], (iii) Snail [P], (iv) Fish [Q]. So, option (D) is the correct answer.
04 Option (D) is the correct answer. Because of the presence of the article ‘a’, it cannot be option (A) or (C),

which though singulars like option (D), cannot represent ‘two’ as seen in the picture.
05 Option (B) is the correct answer. Although there is a saying ‘three is a crowd’, it is not applicable here in

that sense. Moreover, ‘crowd’ being singular, cannot take the plural verb ‘are’.
09 Option (B) is the correct answer. An ‘army’ of ants. ‘People’ is not a collective noun, it is a plural; ‘crowd’

is.
11 Option (C) is the correct answer. ‘Deer’ is the same spelling for singular and plural.
12 Option (D) is the correct answer. That is what describes action in that sentence. The words ‘speeding’ and

‘running’ are adjectives for ‘car’ and ‘student’ respectively. ‘The car hit a student’ is the main sentence.
14 Option (D) is the correct answer. Its masculine counterpart is ‘Drake’.
17 Option (B) is the correct answer. The first syllable of the word ‘ostrich’ produces a vowel sound as in ‘office’,

so ‘an’, and ‘tallest’ being superlative degree, ‘the’.
23 Option (B) is the correct answer. That is the only bird that cannot fly. The others can.
27 Option (D) is the correct answer. When the gender is not known, common gender is used. It resembles the

neuter gender though.
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